SUMMATIVE ASSESSMENT - 11
MODEL QUESTION PAPER
X CLASS - PHYSICAL SCIENCE
(English Version)
Part- A &B

Time : 2.45 min Marks : 40

Instructions:

(i) This paper contains Part-A and Part-B.

(if) Part-A contains 3 sections, answer the questions under Part-A on separate answer book. Write the
answer to the questions under Part-b on the Question paper itself and attach it to the answer book of
Part-A..

(iii) Answer all the Questions internal choice to the questions under section I11.

(iv) In the duration of 2.45hrs, 15 minutes of time is allotted to read the question paper.

Time : 2 hours Marks : 30
Instructions :

1. Part-A comprises of three sections I, 11, IlI.

2. All the questions are compulsory.

3. There is no overall choice. However, there is an internal choice to the questions under Section-I11.

SECTION - |
1. Answer all the Questions.
2. Answer each question in 1 or 2 sentences.
3. Each question carries ONE mark. 4 x 1 =4 marks

1) (A) This causes damage to bridges, iron railings, ships, etc.,
(B) This can be prevented by making alloys.
The above statements refer to which physical process. (AS-1)

2) Find the absolute refractive index of the vaccum medium. (AS-1)

3) Rani gets a clear image of the infinite distance object on the screen with the concave mirror, which has
the radius of curvature 36 cm. Find the distance between the concave mirror and the screen. (AS-1)

4) The electron enters in 3d orbital instead of 4p after filled 4s orbital. Give the reason. (AS-1)

SECTION - 11
NOTE: 1. Answer all the questions.
2. Answer each question in 4 or 5 sentences.
3. Each question carries TWO marks. 2 x5 =10 marks

5) Heating of the lead nitrate emits nitrogen dioxide and oxygen gases. Explain with balanced chemical

equation. (AS-1)

6) “Mirage is an optical illusion.” To know more about this statement frame any two questions. (AS-2)
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7) Write the characters order of NaCl and HCI with suitable symbol < or > in the following table. (AS-4)

Property

Solubility

Boiling Point

Melting Point

Chemical Reactivity

8) You have been provided with two bottles, one of them contains distilled water and the other contains an
acidic solution respectively. (AS-1)
A) If you are asked to dilute the given acidic solution how will you make it?
B) What precautions should be taken in this activity?

9) We get the image on the same side of the object of the convex lens, when the object is placed in front
of the convex lens. (AS-4)

(1) At which place the object is placed?
(2) Write the characteristics of the image formed?

SECTION - I
NOTE: 1. Answer all the questions.
2. Answer each question in 8 or 10 sentences.
3. There is internal choice for each question.
Only one option from each question is to be attempted.
4. Each question carries FOUR marks. 4 x 4 =16 marks
10) Observe the picture and answer the following. (AS-4)

1) For which activity we use this type of arrangement of apparatus?  pusicmg —
Gas 1

2) Write the names of Gas 1 and Gas 2 shown in the figure.

Test lubes
===

3) How do you test for Gas 1 and Gas 2? N

. ::7 Graphite rods

4) Which type of chemical reaction takes place in this activity? T aete] ] catode
(O R) Switch yalls

Which law gives the relation between current (1) through the conductor and potential difference (V)
applied between its ends. How do you verify that law experimentally? (AS-3)
11) Give the reason of the following. (AS-1)

(1) Tooth decay start when the Ph of mouth is lower than 5.5.
(2) Plaster of Paris should be stored in moisture proof container.
(OR)
Which principles are used to describe the electronic configuration for more than one electron in the atom?
Explain each with example.
(AS-1)
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12) The atomic numbers of four elements A,B,C and D are 3, 7, 11 and 18.
1) Which are the elements coming with the same period?
2) Which are the elements coming with the same group?
3) Which are the noble gas elements?
4) Prepare a table show to which group and period does all the elements belong.
(OR)
Who proposed hybridization of atomic orbitals’? Explain the formation of BeCl, molecule using
Hybridization with figure. (AS-1)

13) Draw the figures showing near sightedness and far sightedness eye defects and how do you rectified
show in the figure. (AS-5)

(OR)
Draw the neat diagram of experimental arrangement to conclude that the rate of rise in temperature
depends on the nature of the substance. (AS-5)

-000-

This summative assessment-11 model paper was prepared for students idea, how CCE model
questions will ask in the summative assessment-I, 11, 111 as per the model given by the SCERT.

According to the SCERT model paper the questions for summative I, I, I11 will give based on the
concepts from the syllabus.

All the best students for your Summative Il
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SUMMATIVE ASSESSMENT - II
MODEL QUESTION PAPER
X CLASS - PHYSICAL SCIENCE
(English Version)

Part-B
Time : 30 minutes Marks : 10

Instructions:

(i) Answer all the questions.

(if) Each question carries % mark.

(iii) Marks will not be awarded in any case of over-writing, rewritten or erased answers.

(iv) Write the correct answer for the following questions in the brackets provided against them.

SECTION -1V
NOTE : 1. Answer all the questions.
2. Each question carries 1/2 mark. 20 x 1/2 = 10 marks

14. Which one of the following is odd man out?
a) Acid leaves by bee sting : : sodium hydrogen carbonate
b) Formic acid by nettle plant : : dock plant
c) Stomach pain due to production of too much acid : : magnesium hydroxide
d) For foster cooking : : sodium carbonate
15. A: Temperature determines direction of energy flow
B: Heat is the energy that flows
a) A and B are correct b) A correct, B wrong
c) A wrong, B correct d) A and B are wrong
16. Choose the correct relations for Kirchhoff’s loop law Q_“\ﬂ WR’
(i) For the loop ACDBA, V1-V2-11R1+1,R2; =0
(ii) For the loop EFDCE, V2-15R2- (I1+12) R3 =0
(iii) For the loop EFBAE,  Vi+11R;-(l1+12) R3=0 F

D

a) (i) & (ii) b) (ii) & (iii) c) (iii) & (i) d) (i), (ii) & (iii)

17. Assertion: The oceans behave like heat “store houses” for the earth ( )
Reason: Water has greater specific heat

a) Both assertion and reason are correct

b) Both assertion and reason are correct. Reason doesn’t support assertion.

c) Assertion is correct, reason is wrong.

d) Assertion is wrong, reason is correct.
18. The Chemical formula of Marble is (

a) CaO b) Ca (OH), c) CaSO, d) CaCOs;
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Summative Assessment — Il (By GAMPA VENKATA RAMAPRASAD, PGT, PS,CRT,7799884688) -2

19. Metal hydrogen carbonate + acid >
a) Metal + water + carbon b) Salt + carbon + water
c) Salt + carbon dioxide + water d) Metal oxide + hydrogen + carbon
. The mirror formula is ( )
a) U/f=1u+ v b) 1/f=1/u-1lv c) Uf=1v-1u d) None
. The positions of the objects in front the concave mirror at which the virtual image formed and diminished
image formed respectively ( )
a) Beyond C and Between F & C b) Beyond C and Between P & F
c) Beyond C and On F d) Between F & C and BetweenP & F
. match the following
Compound Formula
A) Sodium zincate i) NaHCO3
B) Sodium acetate i) Na;ZnO,
C) Sodium hydrogen carbonate iii) CH;COONa
a) A-i, B-iii, C-ii b) A-ii, B-i, C-iii c) A-ii, B-iii, C-i d) A-iii, B-i, C-ii
. Match the following set A and set B ( )
Set-A Set-B
A) Oxygen i) Single bond
B) Nitrogen ii) Double bond
C) Hydrogen iii) Triple bond
a) A-i, B-iii, C-ii b) A-ii, B-iii, C-i c) A-i, B-ii, C-iii d) A-ii, B-i, C-iii
. When light passes through rarer medium to denser medium which of the following observations are
correct.
i) speed of light decreases. (
i) speed of light increases.
iii) light ray bends towards the normal.
iv) light ray bends away from the normal.
The correct observations are
a) 1and iv b) i and iii c) iiand iv d) ii and iii
. The value of the focal length of the lens is equal to the value of the image distance when the rays
are (

a) passing through the optic centre b) parallel to the principal axis
c) passing through the focus d) in all the cases

. Suma is doing an experiment with convex lens; she got an image of the characters having real, inverted
and same size. Where she put the object in front of the convex lens. ( )
a) Beyond the center of curvature b) at the centre of curvature
c) between the centre of curvature and focal point d) at the focal point
. The angular momentum quantum number (1) value of “d” orbital is
a) 0 b) 1 c) 2 d)3
. When silver bromide exposed to sun light its colour changes from
a) light yellow to gray b) gray to light yellow
c) black to light yellow d) light yellow to black
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Summative Assessment — | (By GAMPA VENKATA RAMAPRASAD, PGT, PS,CRT,7799884688) Page-3

29. lonization energy of an element depends on its ( )
a) Nuclear charge b) Shielding effect
c) Penetration power of the orbital d) all the above

30. When the object is placed at distance of 25 cm from healthy eye then the eye has minimum focal length.

The value of the focal length is ( )

a) 25cm b) 2.5cm ) 22.7cm d) 2.27 cm

31. Which rule is violated in the electronic configuration 1s°2s*2p* ( )
a) Pauli Exclusion Principle b) Aufbau principle c¢) Hund’s rule d) none

32. The alkali earth metal family belongs to ( )
a) IA b) 1A c) A d) IVA

33. Srujana adviced by doctor to use 2D lens. Its focal length is ( )
a) 50 cm b) 100 cm c)25cm d) 150 cm

Prepared by GAMPA VENKATA RAMA PRASAD, PGT, PS CRT, SRIKAKULAM, 7799884688

Answers for Bit Paper

15. a 16. a 17. a

20. a . 22.C

217.C
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